Anlage 1 - Bilanz

£6'459'491 9€'651vT2 £6'2597/91 8€'651'¥TT
(51'906°L @in3) 2£'21Z°2 ©n3 L0'8lL vL6LL usjsodsBunzuaibqesbunuyssy 9
JUBe[ WUl NZ siq JI9Zjnefsay Jaula Jiw UOAEp -
(90'z¥0°L @In3) Z6'900°} 043 86'0£6°¢91 29'L/2°60Z $}08U2S pun usinpsunipaly
J2YlayolS usle|Zos Jop UsWwyey Wi UOAEP - 18q uagqeying ‘usqeyinbyuegsepunyg ‘puelsaquassey|
(60'p98 04nT) 82'0L0°L CINT LIBNS)S SNE LOAEP -
08°2pE’L 99'vrLGL ¥6'28¢ Z20'2L6°LL
G1906°L leele’s usyayyol|puiqia abysuos ‘g G8'C6L 20Cc0 0k apuejsuababsuabowlap abijsuos 'z
(59°L¥b's 0un3) 6Z'2E5 8 04n3 80'681 00°056°L uabunjsie] pun uabuniajei sne usBuniepioq |
Jyer wisuId NZ sIq JSZNEASay JOUIS HW UCAED -
59'LPP'S B6Z'2ES R usbunjsie pun usbuniaai sne usiByYDIPUIGIEA | oapugjsuababsuabowiap abhsuos pun usbuniaplo ‘|
Uaylauydipuigian "o usBouusanejun ‘g
£2156°9 88'clz’L uabunjigissony ebijsuos °| Q0'LLLL 001612 Bunpejssnesyeudsen) pun -sagsujeg ‘Usbejuy alspue |
uabunjesyony g usbe|ueyoesg ‘||
GL'ZLE'eT 8¥'8ET LY sshyasieqnsailyer ||| 00'658 0o0'L uspapp pun usjyoey usyo|os Ue Uszuszi
1MOS BLBAN PUN S48y aydljuye pun sjyoeizinyas
12°986°201 9£'86€'9Z 1 Beipoauumes | syoijgiemab 'usuoissezuoy| auagionus yolpebiua |
00'000°22 00'009°22 |ejidey| sajauyolezan) | apugjsusbabsuabouliap ajjslisiewiw| |
rejideyuabig -y uabouuanabejuy 'y
oing oing oing oing oing oing
Jyeliop lyelsyeyosag Jyeliop, yelsyeyosan
VAISSYd YALLY

£102°Z1°1€ WNZ ZUejig ayoIRYdIs|apuey

| abejuy

lI9zjjopey 51L£8/ ‘HAwob zuejsuoy| sialy Jnjusbesifiauy
£L0Z°Z1 1 ¢ wnz yapagsbunyalsiz


a8092
Schreibmaschinentext
     Anlage 1 - Bilanz




